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QUESTION 1

Which TWO methods should you use when migrating a target database with different endianness than the source
database? (Choose all correct answers)

A. RMAN DUPLICATE
B. RMAN Transportable Tablespaces with Data Pump
C. RMAN CONVERT D. RMAN RESTORE from target

Correct Answer: BD

QUESTION 2

Which TWO target database environments provide both high availability (HA) and disaster recovery (DR) options in the
cloud? (Choose all correct answers)

A. Autonomous Database

B. Database Cloud service Bare Metal
C. Infrastructure as a service

D. Exadata Cloud Service

Correct Answer: AD

QUESTION 3

When integrating data from multiple sourcesinto a Data Warehouse schema, you want to check a length constraint that
you have imposed on one of the target columns before the rows arrive in the target table. All the rows that do not pass
this quality check will have to be isolated in error tables. For this, you have chosen an Integration Knowledge Module
(IKM) that supports flow control. You have also chosen the value raue for this parameter to enable this check. At
compile time, you see that Oracle Data Integrator (ODI) throws an error and the execution cannot start. What is the
reason?

A. Primary key was not defined on the target table.

B. The Check Knowledge Module was not set in the physical design.

C. The integration type was not set in the logical design.

D. There were no rows compliant with imposed constraint.

Correct Answer: B

QUESTION 4
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What can you use to quickly load data into a cloud database by dragging and dropping a file in a web browser?
A. Remote cloning a pluggable database (PDB)

B. RMAN Transportable Tablespace

C. Data Pump Transportable Tablespaces

D. DatalLoad tab of the SQL worksheet in Database Actions

Correct Answer: D

QUESTION 5

Which entry in a Data Pump parameter file ensures consistent export using Data Pump migration to Autonomous
Database?

A. PARALLEL

B. LOGTIME

C. METRIC

D. FLASHBACK_TIME

Correct Answer: D
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